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...

...
...

...
...
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0 0 · · · 0 0 · · · 0
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...

...
...

0 0 · · · 0 0 · · · 0


l
�Ñàg�5�§|(2)�Ï)�

x1 = −b1(r+1)xr+1 − · · · − b1nxn
x2 = −b2(r+1)xr+1 − · · · − b2nxn

...

xr = −br(r+1)xr+1 − · · · − brnxn
Ù¥xr+1, ..., xn´gd��þ.
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àg�5�§|(2))8äk5�µ

(1)�


k1

k2
...

kn

 ,


l1

l2
...

ln

 ´Ω¥¥�ü�)�þ§Ké?¿

�1 ≤ i ≤ m §Ñk

ai1k1 + ai2k2 + · · ·+ ainkn = 0, ai1l1 + ai2l2 + · · ·+ ainln = 0

l


ai1(k1 + l1) + ai2(k2 + l2) + · · ·+ ain(kn + ln) = 0,
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3Ω ¥.
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3.6�5�§|)�(�(1)

Ω ¥?¿ü�)�þ�ÚE3Ω¥§Ω ¥?¿)�þ�êÈ

E3Ω ¥.

=§àg�5�§|?¿ü)�ÚE´§�)§)�êÈE

´§�).

Ω'uê|�þ�\{ÚêÈ´µ4�($�(JE,38

Ü¥).

äkù«5��Fn�f8¡�f�m.

½Â3.7�Ω´�5�mFn ���f8§eΩ éFn �$�

´µ4�"=§?¿�α, β ∈ Fn, k ∈ F§Ñkα+ β, kα ∈ F§
K¡Ω ´Fn ���f�m.

n �àg�5�§|�)8Ω ´Fn ���f�m§¡�à

g�5�§|�)�m.
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(2)gd��þ


xr+1

xr+2

...

xn

©O�e�n− r |�µ

xr+1

xr+2

...

xn

 =


1

0
...

0

 ,


0

1
...

0

 , . . . ,


0

0
...

1

 ,
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

−b1(r+1)

−b2(r+1)
...

−br(r+1)

1

0
...

0


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...

0
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0

0
...

1


,
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Thank you!
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